
63 cm²      =       ........................................................................................................     m²

100 jaar      =       ........................................................................................................     dagen

36,45 dam      =       ........................................................................................................     dm

163,487 cm³      =       ........................................................................................................     mL

5845 dg      =       ........................................................................................................     mg

66,28 m³      =       ........................................................................................................     dm³

304,8 dm³      =       ........................................................................................................     L

87,4 cL      =       ........................................................................................................     dL

18 dm³      =       ........................................................................................................     L

861,45 dL      =       ........................................................................................................     cL

10 cm³      =       ........................................................................................................     mL

32,7197 L      =       ........................................................................................................     dm³

57,743 dL      =       ........................................................................................................     cL

30 dg      =       ........................................................................................................     kg

73 cm³      =       ........................................................................................................     mL



63 cm²      =     0,0063 m²     (komma 2 x 2 plaatsen naar links)

100 jaar = (100 x 365) dagen  =  36500 dagen

36,45 dam      =     3645 dm     (komma 2 plaatsen naar rechts)

163,487 cm³      =     0,163487 dm³      =     0,163487 L      =     163,487 mL

5845 dg   =   584500 mg

66,28 m³      =     66280 dm³     (komma 3 x 1 plaats naar rechts)

304,8 dm³      =     304,8 L

87,4 cL      =     8,74 dL

18 dm³      =     18 L

861,45 dL      =     8614,5 cL

10 cm³      =     0,01 dm³      =     0,01 L      =     10 mL

32,7197 L      =     32,7197 dm³

57,743 dL      =     577,43 cL

30 dg   =   0,003 kg

73 cm³      =     0,073 dm³      =     0,073 L      =     73 mL


